CENTER
DIFF
BAG

8x16x5

use silicone oil /,:'

add 2mm oil before
assembling the gear

to hold seal in
position
2 8x16x5

silicone oil

gear shaft

NV

fill just over

check default
SET-UP sheet
for CST value of
the silicone oil

M3x12



13x19x4

8x19x6
/ \ 8x11x0.2

7

.
.
.
.,

6 use transmission grease @

Y/
4

2.5x13 @ ‘ Maxa

use threadlock on this screw

2.5x5
WIDE
THREAD

(" TIP Y use 8x11x0.2 |)
_shims to.”
f [ ‘_3\ adjust
7 — “—proper,gear
i —“ﬁ,_}nesh
N )

=/ ——— I |

T |

See also step 4|and-5to adjust

\gearmesh )

Notice orientation of differential




BAG

5

11

é

@ use threadlock on this screw

@

M4x4

2.5x13

s 572;

8x19x6

(TIP )

After building the differential with new gears a new differential case
and bearings, the differential may feel a little tight. The connected
parts need at least an hour run-time to create a perfect match.
Attention: When you assemble the diff with too much initial play,

the gears will not run-in properly and may wear quickly.

After 1 or 2 hours of running the car, re-check the gear-mesh between
the ring gear and the pinion. All parts should have run-in properly now.
You may ad one or more extra shims on the pinion or ring-gear,

start of by placing 1 x 0.1mm more, and try again.

J

(T;[p '. 1 _ R

2.5x5
WIDE THREAD

use 8x11x0.2
shims to
adjust
proper|gear
mesh

See also step 4 and 5 to adjust
\gearmesh

Notice orientation of differential



BAG

Yo T LE] al\
L

U hi I | | diob Inserts:
se shims to allow servolever to clear radiobox 23T Sanwa / KO / JR

by 0.5 to 1.0mm (see step C6) 24T Hitec
25T Futaba



I' ‘I M2x10

NOT INCLUDED

NOT INCLUDED

Adhesive

Adhesive

Place locktight on m3x12 screw as well as m3x8

i\ -'x.f’g'
41 4
),

M4x10



M4ax4

Use Threadlock on all

of these screws

NOT INCLUDED

NOT INCLUDED

(=]
]
=]
=)
=)
=
=4
=1
-
(=]
z




